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MEIES HMIEYL Ey7r EFL TeamName 24 L
1 1 1304 B 53 FrELY ST 00:06:29. 08
2 2 1307 RH it FhELY ST 00:06:36. 82
3 3 1303 4t XH FhELEY ST 00:06:39. 37
5 4 1312 A% KEBA FrELY ST 00:06:46. 78
10 5 1306 H+ EH FhELY ST 00:07:11.88
14 6 1308 /MR BHE KIFHER 00:07:18. 34
16 7 1311 Zith {4E = [E AR 00:07:25.72
22 8 1306 &F FE FhELY ST 00:07:42. 68
25 9 1309 #|{AK KiE = ff] 22 AR 00:07:50. 69
26 10 1313 R %1%k AREHFKR 00:07:54. 80
28 11 1301 f2R% s INRETRI)—F 00:07:56. 59
33 12 1310 /ME RC = [ P AR 00:08:01. 47



